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Candidate ID Number

C(ou do not need any other materials. ) Total Marks

. J
Instructions

® Use black ink or ball-point pen
— pencil can only be used for graphs, charts, diagrams, etc.

® Fill in the boxes at the top of this page with your name, candidate number,
centre code and your candidate ID number.

® Answer all questions.

® Answer the questions in the spaces provided
— there may be more space than you need.

® Answers should be given to an appropriate degree of accuracy.

Information

® The total mark for this paper is 100.
® The marks for each question are shown in brackets

— use this as a guide as to how much time to spend on each question.
® (alculators may be used.

Advice

® Read each question carefully before you start to answer it.
® Try to answer every question.

® You are advised to show your workings.

® Check your answers if you have time at the end.
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(b) Calculate for Month 6:

(i) the break-even point in units

(i) the margin of safety as a percentage of the budgeted sales (to two decimal

places).

(2)

(c) Prepare a conventional break-even chart, using the graph paper on the next page,

for output from 0 to 15 000 units, clearly labelling the:

« total revenue line

« total costs line

« fixed costs line

«  break-even point in units
« margin of safety in units.

(6)
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(9) Explain the meaning of the following terms:

(i) relevant cost
(2)

DONOTWRITEINTHISAREA

(i) avoidable cost.
(2)

(Total for Question 1 = 26 marks)
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(a) Calculate the order of priority for production in the period, with the objective of
maximising contribution.
(6)

(b) Prepare the product mix that will enable the company to maximise profit.
(4)
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(a) Calculate the profit that would be shown in the cost accounts for the period by
preparing a profit reconciliation statement.
(16)
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(b) Explain why it is necessary to undertake a profit reconciliation in a non-integrated
accounting system.
(4)

R

8K

KKK

- VIUV SIHL NI 31IM 1ON 0a
"DONOTWRITEINTHISAREA =

RRRE

KRR

(Total for Question 3 = 20 marks)
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(a) Calculate the company’s working capital cycle (rounded to whole days), using the
average of the opening and closing balances for inventory, trade receivables and
trade payables.

(9)
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 ratios for Period 5 |(to|two decimal pl

Period|5 included the fallowing information

\ 22305, and operates a standard costing system.
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(i) Volume (activity)

(c) State what is meant by the term “the standard hour”.

(d) Explain what is meant by the following terms:

(i) standard cost
(2)

(ii) budgeted cost.
(2)

(Total for Question 5 = 22 marks)
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